


1200 660 1440 180

Tomei

Tokuhyo

0 3

i 0 1 2 3 i 0 1 2 3

Tomei Tokuhyo 1200 660 1440 180 
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0 1 2 3 4 5 6 Tomei[m]

Tokuhyo[m]  sousuu giseki kizyunsuu

(01) Tomei = [" "," "," "," "]

(02) Tokuhyo = [1200,660,1440,180] 

(03) sousuu = 0 

(04) giseki = 6 

(05) m 0 1 : 

(06)  sousuu = sousuu + Tokuhyo[m]

(07) kizyunsuu = sousuu / giseki 

(08) (" ",kizyunsuu ) 

(09) (" ")

(10) m 0      1 : 

(11)  (Tomei[m]," ",  / ) 

580 

2.068966
1.137931
2.482759
0.310345
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1200 660 1440 180 

1200 660 1440 180

 600 330 720 90 

400 220 480 60

300 165 360 45

1200 660 1440 180

1440 720

1200 660 720 180

Hikaku

Tosen

0 

i 0 1 2 3 i 0 1 2 3

Hikaku Tosen 0 0 0 0 
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Tosen

 

 

 

 

Hikaku Tosen

Hikaku Tosen  
i 0 1 2 3 i 0 1 2 3

1200 660 1440 180 0 0 0 0 

1200 660 720 180 0 0 1 0

600 660 180 1 0 0
    

600 660  180 1 0  0 

600 330 180 1 1 0

400 330 180 2 1 0
     

400 330  180 2 1  0 

Hikaku Tosen

0 1 2 3 4 180

288 360 400 480  600 720

Tokuhyo Hikaku

Hikaku maxi Tosen[maxi]

1

Tokuhyo[maxi] Tosen[maxi] 1 Hikaku[maxi]

Tomei Tosen
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Koho

(01) Tomei = [" "," "," "," "]

(02) Tokuhyo = [1200,660,1440,180] 

(03) Tosen = [0,0,0,0]

(04) tosenkei = 0 

(05) giseki = 6

(06) m 0 1 :

(07) Hikaku[m] = Tokuhyo[m]

(08) < giseki :

(09) max = 0

(10) i 0 1 :

(11) max < Hikaku[i] :

(12)

(13) maxi = i

(14) Tosen[maxi] = Tosen[maxi] + 1

(15) tosenkei = tosenkei + 1

(16) Hikaku[maxi] = /

(17) k 0 1 :

(18) (Tomei[k]," ",Tosen[k]," ")

2
1
3
0
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i 0 1 2 3

Koho 5 4 2 3

(11)

Hikaku

max maxi tosenkei

Tokuhyo[maxi] Tokuhyo[maxi] + 1 Tokuhyo[max]

 Tosen[maxi]   Tosen[maxi + 1]  (Tosen[maxi] + 1)

 max = max + 1  max = Tokuhyo[i]  max = Hikaku[i] 

Hikaku[i] = max Tokuhyo[i] = max Tokuhyo[i] = Hikaku[i]

and or not

 Koho[i] >= Tosen[i] + 1   Koho[i] < Tosen[i] + 1 

Koho[i] >= Tosen[i] Koho[i] < Tosen[i]

(11)   max < Hikaku[i]  : 
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